	(	Count	Percent	Cumulative Count	Cumulative Percent	
2. While a student at Dalton State Co	ollege, I was mainly e	nrolled:				
Part-Time		2	100.00 %	2	100.00 %	
_	Total Responses	2	100%	2	100%	
. I was currently enrolled in:						
Computer Networking and Service		1	50.00 %	1	50.00 %	
Management		1	50.00 %	2	100.00 %	
_	Total Responses	2	100%	2	100%	
How long did it take you to comple	ete your program at	Dalton St	ate College?			
3 years		1	50.00 %	1	50.00 %	
4 or more years		1	50.00 %	2	100.00 %	
_	Total Responses	2	100%	2	100%	
. What are your immediate plans af	ter graduation?					
a. Obtain further education		1	50.00 %	1	50.00 %	
b. Obtain full-time employment (go t	to question 11)	1	50.00 %	2	100.00 %	
<del></del>	Total Responses	2	100%	2	100%	
	•	_	10070	_		
9. If your plans are to continue your	-			_		
	-	an to eve	ntually			
(Not Answered)	-		entually 50.00 %	1	50.00 %	
	-	an to eve	ntually			
(Not Answered) b. Obtain a Bachelor's degree?  10. How well did Dalton State Colleg	education, do you pl	1 1 2	50.00 % 50.00 % 100%	1 2	50.00 % 100.00 %	
(Not Answered) b. Obtain a Bachelor's degree?  O. How well did Dalton State Colleg	education, do you pl	1 1 2	50.00 % 50.00 % 100%	1 2	50.00 % 100.00 %	
(Not Answered) b. Obtain a Bachelor's degree?  O. How well did Dalton State Colleging ducation?	education, do you pl	an to even the second of the s	50.00 % 50.00 % 100% your	1 2 <b>2</b>	50.00 % 100.00 % <b>100%</b>	
(Not Answered) b. Obtain a Bachelor's degree?  0. How well did Dalton State Colleg ducation?  (Not Answered)	education, do you pl	an to even the following the f	50.00 % 50.00 % 100% your	1 2 <b>2</b>	50.00 % 100.00 % <b>100%</b>	
(Not Answered) b. Obtain a Bachelor's degree?  10. How well did Dalton State Collegeducation?  (Not Answered) b. More that adequately	education, do you pl Total Responses e prepare you for co Total Responses	an to even the second of the s	50.00 % 50.00 % 100% your 50.00 % 50.00 %	1 2 2 1 2	50.00 % 100.00 % <b>100%</b> 50.00 % 100.00 %	
(Not Answered) b. Obtain a Bachelor's degree?  O. How well did Dalton State Colleg ducation?  (Not Answered) b. More that adequately	education, do you pl  Total Responses e prepare you for co  Total Responses t status?	an to even the second of the s	50.00 % 50.00 % 100% your 50.00 % 50.00 %	1 2 2 1 2	50.00 % 100.00 % <b>100%</b> 50.00 % 100.00 %	
(Not Answered) b. Obtain a Bachelor's degree?  O. How well did Dalton State Colleg ducation?  (Not Answered) b. More that adequately  1. What is your current employmen	Total Responses e prepare you for co  Total Responses t status?	an to even the state of the sta	50.00 % 50.00 % 100% your 50.00 % 50.00 %	1 2 2 1 2 2	50.00 % 100.00 % 100% 50.00 % 100.00 %	
(Not Answered) b. Obtain a Bachelor's degree?  10. How well did Dalton State Collegeducation?  (Not Answered) b. More that adequately  11. What is your current employment b. Unemployed, seeking employment	Total Responses e prepare you for co  Total Responses t status?	an to even the second of the s	50.00 % 50.00 % 100% your 50.00 % 50.00 %	1 2 2 2 2	50.00 % 100.00 % 100% 50.00 % 100%	
b. Obtain a Bachelor's degree?  10. How well did Dalton State Collegeducation?  (Not Answered) b. More that adequately  11. What is your current employmen b. Unemployed, seeking employmen	Total Responses e prepare you for co  Total Responses t status?  It before I graduated Total Responses	1 1 2 ntinuing y	50.00 % 50.00 % 100%  your  50.00 % 50.00 % 50.00 % 50.00 % 100%	1 2 2 2 1 2 2	50.00 % 100.00 % 100% 50.00 % 100.00 % 50.00 % 100.00 %	
(Not Answered) b. Obtain a Bachelor's degree?  10. How well did Dalton State Collegeducation?  (Not Answered) b. More that adequately  11. What is your current employmen b. Unemployed, seeking employmen d. Working full-time at the job I had	Total Responses e prepare you for co  Total Responses t status?  It before I graduated Total Responses	1 1 2 ntinuing y	50.00 % 50.00 % 100%  your  50.00 % 50.00 % 50.00 % 50.00 % 100%	1 2 2 2 1 2 2	50.00 % 100.00 % 100% 50.00 % 100.00 % 50.00 % 100.00 %	

	C	ount	Percent	Cumulative Count	Cumulative Percent	
5. Check the ONE method which ob:	best characterizes the v	vay you	obtained you	r		
	Total Responses	2	100%	2	100%	
16. What is your starting salary?						
(Not Answered)		1	50.00 %	1	50.00 %	
c. \$30,001 - \$40,000	-	1	50.00 %	2	100.00 %	
	Total Responses	2	100%	2	100%	
7. How closely related is your job	to your degree major?					
(Not Answered)		1	50.00 %	1	50.00 %	
b. Moderately related		1	50.00 %	2	100.00 %	
	Total Responses	2	100%	2	100%	
18. How important do you feel you	ır degree was in obtainir	ng your <sub>l</sub>	oosition?			
(Not Answered)		1	50.00 %	1	50.00 %	
b. Somewhat important		1	50.00 %	2	100.00 %	
	Total Responses	2	100%	2	100%	
9. In your opinion, how difficult v	vas it to obtain a job in y	our deg	ree major?			
(Not Answered)		1	50.00 %	1	50.00 %	
b. Difficult		1	50.00 %	2	100.00 %	
	Total Responses	2	100%	2	100%	
20. How well did your experience	at DSC prepare you for y	our job'	?			
(Not Answered)		1	50.00 %	1	50.00 %	
b. Moderately prepared		1	50.00 %	2	100.00 %	
	Total Responses	2	100%	2	100%	
21. How satisfied are you with you	ır job placement?					
(Not Answered)		1	50.00 %	1	50.00 %	
c. Dissatisfied		1	50.00 %	2	100.00 %	
	Total Responses	2	100%	2	100%	
Гable 1 Competencies - a. Fundan	nentals of Speech					
3		1	50.00 %	1	50.00 %	
4		1	50.00 %	2	100.00 %	
	Total Responses	2	100%	2	100%	

June 19, 2009

				Cumulative	Cumulative
	C	ount	Percent	Count	Percent
ole 1 Competencies - b	o. English Composition I				
3		1	50.00 %	1	50.00 %
4		1	50.00 %	2	100.00 %
	Total Responses	2	100%	2	100%
ble 1 Competencies - c	c. United States History				
4		2	100.00 %	2	100.00 %
	Total Responses	2	100%	2	100%
ble 1 Competencies - c	d. College Algebra				
3		1	50.00 %	1	50.00 %
4		1	50.00 %	2	100.00 %
	Total Responses	2	100%	2	100%
able 1 Competencies - e	e. American Government				
3		1	50.00 %	1	50.00 %
4		1	50.00 %	2	100.00 %
	Total Responses	2	100%	2	100%
ole 1 Competencies - f	. General Education Electives				
3		1	50.00 %	1	50.00 %
4		1	50.00 %	2	100.00 %
	Total Responses	2	100%	2	100%
ble 1 Competencies - <u>c</u>	g. Major Field Course Technical E	lectives			
4		2	100.00 %	2	100.00 %
	Total Responses	2	100%	2	100%
able 1 Competencies - h	n. Major Field Course Career Elec	tives			
4		2	100.00 %	2	100.00 %
	Total Responses	2	100%	2	100%
ble 1 Competencies - i	. Physical Education Elective				
3		1	50.00 %	1	50.00 %
4		1	50.00 %	2	100.00 %

Table 2 Outcomes - a. knowledge of basic principles of effective oral communication. This includes planning, researching, organizing, and presenting

	_	٠		Cumulative	
	C	ount	Percent	Count	Percent
types of speeches used in busine	ess, educational and polit	tical acti	vities.		
Agree		2	100.00 %	2	100.00 %
	Total Responses	2	100%	2	100%
Table 2 Outcomes - b. knowledge variety of contexts, with emphasi and a variety of research skills.			_		
Agree		2	100.00 %	2	100.00 %
	Total Responses	2	100%	2	100%
Inited States from the first Europhe Civil War and Reconstruction  Agree		New Wo	orld through	2	100.00 %
	Total Responses	2	100%	2	100%
Agree		2	100.00 %	2	100.00 %
Table 2 Outcomes - e. knowledge system, polynomials, algebraic fu quadriatic equations, inequalities	unctions, exponents, radi	2 uding th	100% ne number ear and	2 2	100.00 % 100%
rable 2 Outcomes - e. knowledge system, polynomials, algebraic fu quadriatic equations, inequalities	of topics in algebra, incl unctions, exponents, radi	2 uding th	100% ne number ear and		
Table 2 Outcomes - e. knowledge system, polynomials, algebraic fo quadriatic equations, inequalities algebra of function,	of topics in algebra, incl unctions, exponents, radi	2 uding th cals, lin r modeli	100% ne number ear and ng, conics,	2	100%
Table 2 Outcomes - e. knowledge system, polynomials, algebraic for quadriatic equations, inequalities algebra of function,  Agree  Table 2 Outcomes - f. knowledge federal government, the state government.	of topics in algebra, inclunctions, exponents, radics, lines int eh plane, linear  Total Responses  of the structure and oper	2 uding the cals, lin r modeling 2 2 ration of	100% ne number ear and ng, conics,  100.00 %  100%	2 2 2	<b>100%</b> 100.00 %
Fable 2 Outcomes - e. knowledge system, polynomials, algebraic fuduadriatic equations, inequalities algebra of function,  Agree  Fable 2 Outcomes - f. knowledge dederal government, the state government,	of topics in algebra, inclunctions, exponents, radics, lines int eh plane, linear  Total Responses  of the structure and oper	2 uding the cals, lin r modeling 2 2 ration of	100% ne number ear and ng, conics,  100.00 %  100%	2 2 2	<b>100%</b> 100.00 %
Fable 2 Outcomes - e. knowledge system, polynomials, algebraic for quadriatic equations, inequalities algebra of function,  Agree  Fable 2 Outcomes - f. knowledge rederal government, the state government.	of topics in algebra, inclunctions, exponents, radics, lines int eh plane, linear  Total Responses  of the structure and oper	2 uding the cals, liner modeling 2 2 ration of Americal	100% ne number ear and ng, conics,  100.00 %  100% the American an local	2 2 2	100% 100.00 % 100%
Table 2 Outcomes - e. knowledge system, polynomials, algebraic for quadriatic equations, inequalities algebra of function,  Agree  Table 2 Outcomes - f. knowledge federal government, the state government.  Agree  Table 2 Outcomes - g. knowledge	Total Responses  Total Responses  Total Responses	2  uding the cals, liner modeling a contraction of Americal calculations are calculated as a contraction of	100% ne number ear and ng, conics,  100.00 %  100%  the American an local  100.00 %  100%	2 2 2	100% 100.00 % 100%
Table 2 Outcomes - e. knowledge system, polynomials, algebraic for quadriatic equations, inequalities algebra of function,  Agree  Table 2 Outcomes - f. knowledge federal government, the state government.	Total Responses  Total Responses  Total Responses	2  uding the cals, liner modeling a contraction of Americal calculations are calculated as a contraction of	100% ne number ear and ng, conics,  100.00 %  100%  the American an local  100.00 %  100%	2 2 2	100% 100.00 % 100%

			(	Cumulative	Cumulative
	С	ount	Percent	Count	Percent
ole 2 Outcomes - h. technical cou	ırse knowledge appro <sub>l</sub>	priate to	the academic		
oals and career goals of the studn	et.				
Agree		2	100.00 %	2	100.00 %
<del>-</del>	Total Responses	2	100%	2	100%
able 2 Outcomes - i. career course areer goals of the student.	knowledge appropria	te to the	academic and		
Agree		2	100.00 %	2	100.00 %
_	Total Responses	2	100%	2	100%
able 2 Outcomes - j. Physical Eduction oals of the student.	cation knowledge appr				
Agree –		2	100.00 %	2	100.00 %
	Total Responses	2	100%	2	100%
quality of instruction by faculty					
Good		2	100.00 %	2	100.00 %
_	Total Responses	2	100%	2	100%
academic advising					
Fair		1	50.00 %	1	50.00 %
Good		1	50.00 %	2	100.00 %
_	Total Responses	2	100%	2	100%
clarity of program requirements					
Fair		1	50.00 %	1	50.00 %
Good		1	50.00 %	2	100.00 %
_	Total Responses	2	100%	2	100%
availability of faculty advisor					
Fair		1	50.00 %	1	50.00 %
Good		1	50.00 %	2	100.00 %
_	Total Responses	2	100%	2	100%
career counseling advising					
Poor		1	50.00 %	1	50.00 %
Good		1	50.00 %	2	100.00 %
<del>-</del>	Total Responses	2	100%	2	100%

					Cumulative
		Count	Percent	Count	Percent
quality of instruction in laborator	ries				
Fair		1	50.00 %	1	50.00 %
Good		1	50.00 %	2	100.00 %
•	Total Responses	2	100%	2	100%
accessibility of faculty					
Fair		1	50.00 %	1	50.00 %
Good		1	50.00 %	2	100.00 %
-	Total Responses	2	100%	2	100%
availability of needed courses					
Good		2	100.00 %	2	100.00 %
•	Total Responses	2	100%	2	100%
range of courses from which to o	choose				
Good		2	100.00 %	2	100.00 %
•	Total Responses	2	100%	2	100%
information about course require	ements				
Good		2	100.00 %	2	100.00 %
•	Total Responses	2	100%	2	100%
testing/grading system					
Good		2	100.00 %	2	100.00 %
•	Total Responses	2	100%	2	100%
class size					
Good		2	100.00 %	2	100.00 %
•	Total Responses	2	100%	2	100%
n. classroom and teaching facilitie	es				
Good		2	100.00 %	2	100.00 %
•	Total Responses	2	100%	2	100%
ı. relevance of classes to career g	oals/objectives				
Fair		1	50.00 %	1	50.00 %
Good		1	50.00 %	2	100.00 %
•	Total Responses	2	100%	2	100%

				Cumulative	Cumulative
		Count	Percent	Count	Percent
E Overell how would you rete ve	ur level of acticfactic	n with the	CENEDAL		
<ol><li>Overall, how would you rate yo TUDIES program received at Dalt</li></ol>		n with the	GENERAL		
310DIE3 program received at Dail	on State College:				
a. Very Satisfied		1	50.00 %	1	50.00 %
b. Satisfied		1	50.00 %	2	100.00 %
-	Total Responses	2	100%	2	100%
26. Would you recommend the pro	gram to someone wh	o would w	ant to major in		
ENERAL STUDIES?					
- V		0	400.00.0/	0	100 00 01
a. Yes		2	100.00 %	2	100.00 %
	Total Responses	2	100%	2	100%
27 If you could do it all over again	would you choose a	different	major for your		
	, would you choose a	different	major for your		
	, would you choose a	different	major for your		
	, would you choose a	different	major for your 50.00 %	1	50.00 %
<ul><li>27. If you could do it all over again degree?</li><li>a. Yes</li><li>b. No</li></ul>	, would you choose a			1 2	50.00 % 100.00 %

June 19, 2009 Page 7 of 7